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1] woBEMSE L,
(1) y=(x—2)(x*+2x+3)

(2) y=(2224+1)(x2+x+1)

(3) y=(2x+1)(x*—2x+3)

(4) y=(3224+2x—1)(x2-1)

(5) y=uxsinx (6) y=uxcosx

(7) y=axtanx

(9) y=zxe”

(11) y==xlogx

(13) y=e*sinx

(15) y=e*tanx

(17) y=x%cosx

(8) y=sinxcosx

(10) y==x%"

(12) y=x4ogx

(14) y=e*cosx

(16) y==x%sinx

(18) y==x’tanx

(19) y=sinxlogx

(21) y=tanxlogx

(23) y=x-27

(25) y=xlog,x

(27) y=xJxe*

(20) y=cosxlogx

(22) y=e*logx

(24) y=x%.3"

(26) y==x"logsx

(28) y=xlog(x2+1)
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(29) y:llogx (30) y=(1—x)e” B f(x), g(x) B FIRED & &,
* {fl)g(x)}) = fx)g(x)+ flx)g"(x) DD LD & 2RE,
(31) y=+/xlogx (32) y=(x—1)log(x+1)
(33) y=sinx(l—cosx)
wE
1) 3x2—-1 2) 8x°46x24+6x+1 3) 6x2—6x+4
4) | 12x°+6x2—8x—2 | (5) sinx + xcosx (6) cosx —xsinx
7| tanx+ Co’ézx ®) cos2x ) (1+x)e*
(10) (24 x)xe* (11) logx +1 12) x(2log x +1)
(34) y=cosx(sinx +1)
(13) e*(sin x +cosx) (14)| eXcosx—sinx) (15) ex<tan x4+ coiz P )
(16)| x%3sinx +xcosx) |(17)| x(2cosx—xsinx) |[(18)| 2xtanx+ c;szzx
(19)| cosxlogx +Si% (20)| —sinxlog x + CO% (21) clg% ta¥
(22) e ”‘(log x+ %) (23) 241+ xlog2) (24) 3%2x+x%log 3)
)| logxt-Ls |26 x<210g3x +L> @n|  Lureason
log2 log3 2
2
(28)| log(x?+1) + xf’; o e B e I [C) —xer
(31) 2\};(logx +2) (32)| log(x+1)+ ;;i (33)| —2cos?x +cosx+1
(34)| —2sin?x —sinx +1
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